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Paper-III

i=k&III

SOCIAL SCIENCE (HISTORY AND GEOGRAPHY)

lkekftd foKku (bfrgkl ,oa Hkwxksy)

HISTORY (bfrgkl)

Instructions :

		  The answer of Question No. I is compulsory having 2 marks for each objective question. The candidate is 
required to answer two long type questions out of four questions. Each carrying 40 marks.

funsZ'k%

		 iz'u la[;k I dk mÙkj vfuok;Z gS ftlesa 2 vad ds izR;sd oLrqfu"B iz'u gSaA ijh{kkFkhZ 4 nh?kZ mÙkjh; iz'uksa esa ls 

fdUgha 2 dk mÙkj nsaA izR;sd iz'u 40 vad ds gSaA

I. Objective types questions  (oLrqfu"B iz'u) %� (10 × 2 =20)

	 1.	 The beautiful figure of a dancing girl found at Mohenjo-daro was made of
	 (A)	 Silver	 (B)	 Bronze
	 (C)	 Gold	 (D)	 None of the above

		  eksgu&tksnM+ks esa ikbZ x;h u`R; djrh gqbZ yM+dh dh lqUnj ewfrZ fdl èkkrq dh cuh gS\

	 (A)	 pkanh	 (B)	dkalk

	 (C)	 lksuk	 (D)	mi;ZqDr esa ls dksbZ ugha

	 2.	 The local self-government was the most striking feature of
	 (A)	 Chola Administration	 (B)	 Gupta Administration
	 (C)	 Vijayanagra Administration	 (D)	 Mughal Administration

		  LFkkuh;&Lo'kklu fdldk vlkèkkj.k xq.k Fkk\

	 (A)	 pksy ç'kklu	 (B)	xqIr ç'kklu

	 (C)	 fot;uxj ç'kklu	 (D)	eqxy ç'kklu

	 3.	 The military department during the Delhi Sultanate was known as
	 (A)	 Diwan-i-Risalat	 (B)	 Diwan-i-Arz
	 (C)	 Diwan-i-Insha	 (D)	 Diwan-i-Amir Kohi

		  fnYyh lYrur ds nkSjku lSU; foHkkx dks fdl uke ls tkuk tkrk Fkk\

	 (A)	 nhokus&jhlkyr	 (B)	nhckusa&v”kZ

	 (C)	 nhokus&bZU'kk	 (D)	nhokus&vehjdksgh

	 4.	 What was the real name of Sher Shah Suri?
	 (A)	 Farid	 (B)	 Akbar
	 (C)	 Zaheer	 (D)	 Shahab

		  'ksj'kkg lwjh dk okLrfod uke D;k Fkk\

	 (A)	 iQjhn	 (B)	vdcj

	 (C)	 ”kghj	 (D)	'kgkc

	 5.	 Dara Shikoh was the author of which of the following book?
	 (A)	 Safinat-ul-Auliya	 (B)	 Sakinat-ul-Auliya
	 (C)	 Majma-ul-Bahrain	 (D)	 All of the above
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		  nkjk f'kdksg fuEufyf[kr esa ls fdl iqLrd dk ys[kd Fkk\
	 (A)	 liQhur&my&vkSfy;k

	 (B)	 ldhur&my&vkSfy;k

	 (C)	 etek&my&cgjSu

	 (D)	 mi;ZqDr lHkh

	 6.	 In which year a Royal Commission was appointed to examine the trafficking of intoxicating drugs in India?
	 (A)	 1858	 (B)	 1875
	 (C)	 1893	 (D)	 None of the above

		  Hkkjr esa u'khyh nokvksa dh rLdjh dh tk¡p djus gsrq jktdh; vk;ksx fdl o"kZ xfBr fd;k x;k Fkk\
	 (A)	 1858	 (B)	1875

	 (C)	 1893	 (D)	mi;ZqDr dksbZ Hkh ugha

	 7.	 Gandhi was thrown out of the ‘first class’ compartment during his first journey from Durban to
	 (A)	 Cape Town	 (B)	 Transvaal
	 (C)	 Natal	 (D)	 Pretoria

		  xkaèkh dks muds çFke Js.kh ds MCcs ls ckgj iQsad fn;k x;k] tc og viuh çFke ;k=kk esa Mjcu ls fdl LFkku tk 
jgs Fks\

	 (A)	 dsiVkmu	 (B)	VªkaLyy

	 (C)	 ukrky	 (D)	fçVksjh;k

	 8.	 Who gave the famous call “Chalo Delhi” ?
	 (A)	 Jawaharlal Nehru	 (B)	 Subhas Chandra Bose
	 (C)	 Mahatma Gandhi	 (D)	 Hasrat Mohani

		  ¶pyks fnYyh¸ dk çfl¼ ukjk fdlus fn;k Fkk\
	 (A)	 tokgjyky usg:	 (B)	lqHkk"k pUæ cksl

	 (C)	 egkRek xk¡èkh	 (D)	gljr eksgkuh

	 9.	 Why was Birsa Munda released from prison on 30th November, 1897 CE before expiry of his sentence?
	 (A)	 His health condition was bad.
	 (B)	 Diamond jubilee celebration of Empress Victoria.
	 (C)	 Popular pressure on the government.
	 (D)	 Mercy petition filed by Christian Missionaries on his behalf.

		  30 uoEcj 897 bZ- dks ltk dh vofèk dh lekfIr ds iwoZ fcjlk eq.Mk dks tsy ls D;ksa fjgk fd;k x;k Fkk\
	 (A)	 mudh lsgr [kjkc FkhA

	 (B)	 lezkKh foDVksfj;k dh ghjd t;arh FkhA

	 (C)	 ljdkj ij yksxksa dk nckoA

	 (D)	 bZlkbZ fe'kufj;ksa }kjk mudh rjiQ ls n;k ;kfpdk nkf[ky fd;k tkukA

	 10.	 When was Gaya Session of Indian National Congress held in which 800 tribals from Chotanagpur 
participated?

	 (A)	 1922	 (B)	 1920
	 (C)	 1924	 (D)	 1938

		  Hkkjrh; jk"Vªh; dk¡xzsl dk x;k vfèkos'ku fdl o"kZ vk;ksftr fd;k x;k ftlesa NksVkukxiqj ds 800 vkfnokfl;ksa us 
fgLlk fy;k\

	 (A)	 1922	 (B)	1920

	 (C)	 1924	 (D)	1938
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II. Long Type Questions (nh?kZ mÙkjh; ç'u) :� (40×2=80)
	 1.	 Discuss the most impressive features of Indus Valley Civilization.

		  flaèkq ?kkVh lH;rk dh fo'ks"k çHkko'kkyh fo'ks"krkvksa dh ppkZ djsaA
	 2.	 Critically examine the achievements and contribution of Sher Shah Suri.

		  'ksj'kkg lwjh dh miyfCèk;ksa vkSj ;ksxnku dk vkykspukRed ijh{k.k djsaA
	 3.	 Describe the role of Mahatma Gandhi in the Indian National Movement.

		  Hkkjrh; jk"Vªh; vkanksyu esa egkRek xk¡èkh dh Hkwfedk dk o.kZu djsaA
	 4.	 “After Birsa Munda’s movement the struggle of tribals of Jharkhand gave up its militant and violent 

methodology and took constitutional and peaceful cause.” How far do you agree with this statement?
		  ¶fcjlk eq.Mk vkanksyu ds i'pkr >kj[kaM ds vkfnokfl;ksa ds la?k"kZ us viuk mxzoknh ,oa fgalkRed Lo:i R;kxdj 

laoSèkkfud vkSj 'kkafriw.kZ Lo:i viuk fy;kA¸ vki bl dFku ls dgk¡ rd lger gSa\

Geography (Hkwxksy)

Instructions :
		  The answer of Question No. I is compulsory having 2 marks for each objective question. The candidate is 

required to answer two long type questions out of four questions. Each carrying 40 marks.

funsZ'k%

		 iz'u la[;k I dk mÙkj vfuok;Z gS ftlesa 2 vad ds izR;sd oLrqfu"B iz'u gSaA ijh{kkFkhZ 4 nh?kZ mÙkjh; iz'uksa esa ls 
fdUgha 2 dk mÙkj nsaA izR;sd iz'u 40 vad ds gSaA

I. Objective types questions  (oLrqfu"B iz'u) %� (10 × 2 =20)
	 1.	 According to Wegner, the continents drifted towards

	 (A)	 Equator and North pole	 (B)	 Equator and West
	 (C)	 Equator and South pole	 (D)	 Equator and East

		  osxuj ds vuqlkj egk}hi çokfgr gq,
	 (A)	 Hkweè;js[kk ,oa mÙkjh èkzqo dh vksj	 (B)	Hkweè;js[kk ,oa if'pe dh vksj

	 (C)	 Hkweè;js[kk ,oa nf{k.k èkzqo dh vksj	 (D)	Hkweè;js[kk ,oa iwoZ dh vksj

	 2.	 Temperate cyclones occur between which latitudes?
	 (A)	 35° to 65° North and South	 (B)	 40° to 70° North and South
	 (C)	 30° to 60° North and South	 (D)	 50° to 70° North and South

		  'khrks".k pØokr fdu v{kka'kksa ds eè; mRiUu gksrs gSa\
	 (A)	 35° ls 65° mÙkj vkSj nf{k.k	 (B)	40° ls 70° mÙkj vkSj nf{k.k

	 (C)	 30° ls 60° mÙkj vkSj nf{k.k	 (D)	50° ls 70° mÙkj vkSj nf{k.k
	 3.	What is the average annual temperature of oceans?
	 (A)	 63°F	 (B)	 74°F
	 (C)	 35°F	 (D)	 55°F

		  egklkxjksa dk vkSlr okf"kZd rkieku fdruk gksrk gS\
	 (A)	 63° iQk-	 (B)	74° iQk-

	 (C)	 35° iQk-	 (D)	55° iQk-

	 4.	 Kargil is located on the banks of-
	 (A)	 Sutlej river	 (B)	 Jhelum river
	 (C)	 Suru river	 (D)	 Chenab river

		  dkjfxy ftl unh ds fdukjs fLFkr gS] og gS
	 (A)	 lryt unh	 (B)	>sye unh

	 (C)	 lq#unh	 (D)	psukc unh
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	 5.	 Tenughat Power Project is concerned with
	 (A)	 Natural Gas	 (B)	 Atomic Power
	 (C)	 Hydro Electricity	 (D)	 Thermal Power

		  rsuq?kkV ÅtkZ la;a=k lEcfUèkr gS

	 (A)	 çkÑfrd xSl	 (B)	vkf.od 'kfDr

	 (C)	 ty fo|qr	 (D)	rki fo|qr

	 6.	 Which one of the following is the longest National Highway (NH) of India?
	 (A)	 NH 16	 (B)	 NH 44
	 (C)	 NH 48	 (D)	 NH 66

		  fuEukafdr esa ls dkSu&lk ,d Hkkjr esa lcls yEck jk"Vªh; jktekxZ gS\
	 (A)	 NH 16	 	 	 (B)	 NH 44
	 (C)	 NH 48	 	 	 (D)	 NH 66

	 7.	 Who propounded Binary Star Hypothesis ?
	 (A)	 Laplace	 (B)	 Kant
	 (C)	 James Jeans	 (D)	 Russell

		  }S rkjd ifjdYiuk fdlus çfrikfnr dh \

	 (A)	 ykIykl	 (B)	dk.V

	 (C)	 tsEl thUl	 (D)	jlsy

	 8.	 Which erosional agent forms Zeu-gen?
	 (A)	 River	 (B)	 Glacier
	 (C)	 Wind	 (D)	 Underground water

		  vijnu dk dkSu&lk dkjd T;wtsu dk fuekZ.k djrk gS\

	 (A)	 unh	 (B)	fgeun

	 (C)	 iou	 (D)	Hkwfexrty

	 9.	 Which of the following groups of districts have highest concentration (%) of tribals in Jharkhand as per 
2011 census?

	 (A)	 Gumla, West Singhbhum & Jamtara
	 (B)	 Pakur, Dumka & Jamtara
	 (C)	 Khunti, Simdega & Gumla
	 (D)	 Khunti, Simdega & West Singhbhum

		  2011 dh tux.kuk ds fglkc ls fuEufyf[kr fdl lewg ds ftyksa esa >kj[kaM esa lokZfèkd tutkfr;ksa dk teko 
(») ik;k tkrk gS

	 (A)	 xqeyk] if'peh flagHkwe ,oa tkerkM+k

	 (B)	 ikdqM+] nqedk ,oa tkerkM+k

	 (C)	 [kq¡Vh] fleMsxk ,oa xqeyk

	 (D)	 [kq¡Vh] fleMsxk ,oa if'peh flagHkwe

	 10.	 Which of the following districts in Jharkhand has got highest irrigated area?
	 (A)	 Ranchi	 (B)	 Palamu
	 (C)	 Hazaribag	 (D)	 Garhwa

		  >kj[kaM ds fuEufyf[kr ftyksa esa ls dgk¡ lokZfèkd flafpr {ks=k gS\

	 (A)	 jk¡ph	 (B)	iykeq

	 (C)	 gtkjhckx	 (D)	x<+ok
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II. Long Type Questions (nh?kZ mÙkjh; ç'u) :� (40 × 2 =80)
	 1.	 Describe the weather of a tropical cyclone. Where do these storms originate ? What path do they usually 

follow ?
		  m".k&dfVcaèkh; pØokrksa ds ekSle dk o.kZu dhft;sA ;s pØokr dgk¡ mRiUu gksrs gSa\ çk;% ;s dkSu ls ekxZ ls 

xqtjrs gSa\
	 2.	 Describe the relationship between the annual rainfall in India and its natural vegetation.

		  Hkkjr esa okf"kZd o"kkZ ds forj.k ,oa bldh çkÑfrd ouLifr ds vUrlZEcUèk dk o.kZu dhft;sA
	 3.	 Critically evaluate the favourable factors to establishment and development of Iron and Steel Industry in 

India.
		  Hkkjr esa ykSg ,oa bLikr m|ksx dh LFkkiuk ,oa fodkl esa lgk;d dkjdksa dh leh{kk dhft;sA

	 4.	 Discuss in detail the occurrence & distribution of coal in Jharkhand.
		  >kj[kaM esa dks;ys dh mRifÙk ,oa forj.k dh foLrkj ls ppkZ djsaA


